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1.

Fixed cost remain at the same level
irrespective of change in

(A) Volume

(B) Cosl

(C}  Quality

(D) Fashion

Decision-making is a future oriented

activity. It involves forecasting and
planning. The function of

decision-making I8 to choose
alternatives for the

(A) Future
(B) Prasent
(C) Profit
(D) Loss

Which concept of marketing is based
on ‘Customer Satisfaction' key point ?
(A) Old concept of marketing

(B) Modern concept of markeating
(C) Entity concept of business

(D) Al of the above

Which of the felléwing is not an

economic factor 7

(A} Gross National Product

(B) Per Capila Income

{C} Trends in the price of goods and
S@rvices

(D} All of the above

"“The Environment of business
consists of all those external things
to which it is exposed and by which il
may be influenced, directly or
indirectly” said by

{A) Copen

(B} Wieer and Torch

(C) Reinecke and Shcoell

(D) None of the above

6. Which of the lollowing is n

10.

component of environment 7
(A} Economical factars

(B) Geographical factors
(C) Political factors

(D) None of the aboye

Which ol the following cont
working of share market in Ind)

(A} MRTP Act
(B) FERA
(C) BIFR
(D) SEBI

Which tax is collected by Pa
{A) Tax on local fairs
(B) Sales tax

(C) Custom Dy
(D) Land Revenue

The Consumer Protection
came into force on

(A) 1 July 1987
(B} 1 July 1986
{C) 1 June 1886
(D) 1 June 1987

Goods means
{A) Al movable property
(B) All immovable property
(C) Auctionable claims
(D) Decrese
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12,

13

14.

15,

Which ane of the following services
is nol covaraed under Consumer
Frotection Act 7

(A) The Services of a Teacher
(B} The Sarvices of a Banker
(C) The Services of a Doclor
(D) The Services of a Lawyar

Corporate tax is
(A} Indirect tax
(B) Gifttax

(C) Directtax
(D) Service lax

Who are the drivers of Giobalisation 7
{A] International trade

(B) Financial flows

(C} Communications

(D} Al of the above

Which of the following is component
of social cultural envirohment 7

(A) Education
(B) Agnculture
(C) Population
(D) RandD

Socialism came into force for social
development but it has one limitation
which is

(A) Maximum use of national
reEsources

(B) Full employment
(C) Production planning
(D) Bureaucrafic tendency

16. Capital economic system consists
(A} Right to own private proparty
{B) Profit motive
(C) Existence of competition
(D) Al of the above

17. Memorandum of Association of
company consists
{A) Name clause
(B) Place clause
(L) OQbjective clausa
(D) Al of thess

18. Product proliferation repres
introducing different brands in|
Same

(A} Product line

{B) Product quality
(C) Product prigh »
(D) Product design

19.  Mission is a statement which de
the role that an organisation plays

(A) Soclety
(B) Market
(C) Shop

(D} Capital

20. Indian Mercantile Law is based)
(A) American Law
(B} European Law
(C) English Mercantile Law
(D) Japani Law




19, w3 & =t S o A S
ST W STt 7
(A} FEreiEEn
(B) e hwaT
(C) =gz aidan
0] FEwErEE

12 TR
(A} FTHEaY =
(B) T 2=
(C) ey =T
(D) Hars

13 P (EEeESYE) & A
FHET
(A] AT SN
(B) fErir T
(C) = m
(D) FodtEs

14, T AT A e A
FAHGTHE 7
(n) T
(B) Fm
(C) FwEE
(D) 3IE 30 2

18 wwiers e & T e A
i it e e B, 9w R

(A) T G T e I
(B) i A
. {C) I ST

(D) T

16.

17.

18.

19.

JDD-67/PGT-COMM/TIER-IVX-15

Fafrars anfifs TefH 9 am @

(a) Tt sl o wnfies @ sl
(B) AT FHIA H B

(C) winemal = HhE=

(D) FwlEd

Feedt off s & e 99 A B E
(A) FTHER
(B) FEHgH
(C) FEFAE
(D) T=HH

IEE WAl Eifaa awdl B-WeE W
ElREt el

(A) T EEA |

(B) IFEEEA

(C) IR IEAH | !
(D) e TE i Ly

firar 4R UE HaA § o afoaiie w8
e wre i
(4) T d

e

(C) TRH
(D} mﬂﬂ’rﬁ

AT AT S e 38 ST

e P e



22,

Ax

21,

24,

JDD-67/PGT-COMM TIER-IVX-15

An implied agreemant is created by

LA
(E)
(C)
(D)

Orally
Raegistration
Conduct

Automatically

A void agreement is an agreament
which s

(A)
(B)
(C)

(D)

Enforceable at law
Mol enforceable at law

Enforceable at the option of one
of the parties

Restricted by government

Residantial status of an assasses can

be
(A)

(B)
()
(D)

Differant for different assessment
years

Different for current years
Different for previous years
None of the abave

Tax incident is highest in the case of

(A)

(E)
(C)

(B)

Residont and ordinarily resident
Non-resident

Rasident but not ordinarily
resident

Naone of the above

Proference shareholders ame

(A
(B)
(C)
(D)

Creditors of the company
Trusiee of the company
Employes of the company
Owners of the company

a7,

28.

A 90 00 O D 00 A

26.

Doctrine of subrogation is related
(A) General insurance Act 187
(B) Indian Contract Act 1872
(C) The Sale of Goods Act 18
(D) Indian Companias Act 18

Performing assets méans

(A) Money al call and shon
(B) Cash Balance with RBI
(C) Bank Balance with RBI

(D) Leoans and advance
generale income

General Reserve created from
(A) Capital profit

(B) Revenue profit

(T} Only profit

(D) By sale of assals

Premium 'rﬂr;ai'vﬁ'ﬂ on the i
shares is shown in

(A} Debit side of Profit and
Account

(B) Credit side of Profit &
Account

(C) Assels side of the Ba
Sheel

(D) Liabilities side of the
Sheet

In case the shares are forfeite
capital account is debiled by

(A) Nominal value of shares
(B} Paid up amount of sha
(C) Called up amount of sh
(D) Uncalied up amount of
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34.
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35.
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If earnings price ratio is 0.5 and
earning per share iz T &, the market
price of the share will be

(A) T 40
(B) 1100
(C) 180
(D) TOD.40

Accounting standard — 14 is related
with
(A)
{B)
(&)
(D)

Amalgamation
Valualion of stock
Depreciation accounting
Valuation of assets

The basic purpose of funds tlow
staternent is to indicate the following

(A) Financial position

(B} Increase or decrease in assels
(C) Increase or decrease in liabilities
(D) Increase or decraase in working

capital

¥
Which of the following is not normally
paid from the working capital 7
(A)
(B8)
(C)
(B

Payment of wages
Paymanl 1o creditors
Redemption of debentures
Purchase of raw materials

Which one of the following is iverage
ratio 7

(A)
(B} GCurrent ratio

Operating ratio
Inventory ratio

Dabt equity ratio

(C)
(D)

000 0 T

39

36.

ar.

Cash from operation is equal to

(A} Net profit + increase in cu
assels

(B) Net profit + decrease:in cu
lkabilitias

(C) Net profit + non cash expel

+ decreasse in current assal
(D) Met profil afler tax

Malerial cost variance is due 1o
(A} Change in price of maternal
(B) Change in guantity used
(C) Change in material mix
(O} Al of the above

Sales for the year T 40,000, pur
2 30,000, expenses T 5,000, ol
atthe start ¥ 10,000, credilors atif
¥ 15,000, cash from operation

(A) T20,000
_.r"r\_ LW

(B) T5000 2

(C} 10,000

(D) 15,000

Which one of the following ilemss
be: laken as of a capital nature 7.

(A) T 2,000 spent on dismé
plant and machinery 10
convenlent site

(B) 1,000 paid for removal o

o a new site

(C) T 5,000 paid for erectic

naw maching

Asumof T 5,000 was axp
on rainstalling plan
machinery

(D)




31.

Ax

o s e I 0.5 2 S E
F1 FA7 T 8 €, 6 3 I w1 aE
(i) A BT

(A) T 40

(B) %100

(C) ¥ 160

(O} T 040

T Tl — 14 T EEE R
(A) WA

(B) 2T oI HEgEA

(C) ﬁ‘ﬁq"ﬁlﬁﬁ‘l

(D) w1 HEaiA

ha vl T 1 0 S T fn B
(A) Tawia fraf

(B) wety o wEa @ ad

(C) EaaTH wEa U H

(D) e et o wegw A wed

fe # 4 el e =) e &
srarefl 7 it =t ?
(&) wEEdl = P
(B) FROTAN T WA
(€)= ol
(D) os A6 ohi EHIE

e A 8 e e e 2 7
(A) 2zl

(B) iz i

(C) sl T

(D) g T

1-

37.

39.

JDD-67/PGT-COMM/ TIER-I'X-15

SR, ST TS THE AU il 8

(A) 3[BT + o] st o g3

(B) TG WATHT + =T weue o s

(C) & WATH! + e § 7 fordl 7 =m
+ 1, P A Haw

(D) = o o & AT

TR T 58 I wEET

(A) ERf e § e

(B) T e T e
(C) avit faso § aftEme

(D) FHdtEH

gt greeh! fawl # 2 40,000, @i
% 30,000, =13 T 5,000, JHAT FIEN!
% 10,000, ¥ % HUEEl 2 15,000 2,

A1 = W TEs

(A) ¥20,000 Pt

(B) 75,000 -

(C) T 10,000

(D) % 15,000

iR s S A F R ?

(A) T 2,000 P AR 3 AFH
=1 a1 gl SR W
= fere

(B) 71,0001 R =2 1 99 15
o W &

(C) % 5,000 =1 YAH 7% W H5H
< fere

(D) ¥ 5,000 YT 2 Al
ﬁ'ﬂﬂ:ﬂﬁﬁ'ﬂ?ﬁ*m

— = g

—
r

—————

= -f'-'h= e




JDD-67/PGT-COMM/ TIER-IIX-15 | 00 6T 00 AT A AR

| 40. Depraciation of fixed assels is an 45, Which one of the following fo

| axampla of will ba usad for computing the g
(A} Revenue expenditure elasticity of demand ?
(B) Capital expenditure %% chiange in quantity de

" (C) Deferred revenue expenditure (A | s

% change in price
(D} All of the above
(B) Change inquantity demand

41. Which of the following expenses will National hoome
be allocated on time basis 7 ,
(A) Salary (©) " changein quantity de
(B) Wages 100
(C) Interest

_% change in price
(D) Al of the above (0] % change in supply

42, Pre-incorporation profit is credited 1o
(A) Profitand Loss Ale 46. A firm that is the sole seller of a pr

(B) P and L Appropriation Alc without close substitutes calied

(C) General Reserve Alc (A) Monopaoly
(D) Capital Reserve Alc

(B) Oligopoly
43. Financial stability refers to the (€) Compettion-—..
capacity of an undertaking to meet its (D) Eureau:ﬂréi’éy
financial obligation, both
and =
(A} Short-term and long-term 47,  Which is not part of market strug
(B) Currentand fixed assets [A)  Oligopaly
(C} Bills receivables and bills (B} Monopolistic competifon
pilpalaes (C) Perfect competition
(D) :Eﬁa“r:;:anal position and solvency (D) None of the above

44, Which of the following is non-trading | 48- Profit=Total revenue —

charges ? Choose the suitable answer ¢
t (A} Preliminary expensas writlen off (A) Total cost

(B) Discount on issue writtan off (BY Total price

(G) Provision for taxaton © {3} Total sale

(0} Al of the above (D} Mone of these
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thal results from a 1 percent change
in price.

(A) Supply demanded

(B} Quantity demanded

(C)  Quantity

(D) Supply

| JDD-67/PGT-COMM/ TIER-I/X-15 00 000 R0 O 0 8O
48 Which cost known as penodical cost 7 54. Pricing decisions are affecled by
(A} Fixed cost __In which the firm op
(B) Variable cost (A) Political environment
(C) Revenue cost (B) Economic anvironment
(D) Marginal cost () Rusinges
{D) Demand
50. The change in total revenue from an _ _
additional unit sold called as 55. If one input is variablé and all
5 inputs are fixed the firm's prod
(A) Marginal revenue runclion exhilits the
(B) Average revenus (&) Law of variable proportio
(C) 'Rovenus (B) Law of capital proportions
(D) Profit (C) Law of supply
(D) Law of demand
51. Demand curve is a graph of the
rela:imnshtljpmhﬂhmen the price of a 56, Which is/are mettiods of m
s e national income 7
(B) S“F"FH}" _ (8)  Income method
(C) Cuantity supplied (C) Expamiitunla*mﬂthns:l
(D) Demand (D) Al of thefaliove
52, The marginal raverlie equation can 57. Price discrimination occu
be derived from the variation in prices for a pr
(A) Demand equation diffarent markets does nof
(B] Supply equation *’:"ﬂﬁf‘“ in
(C)} Cost eguation ‘EEi g’:ir
(D) Price equation (C) Demand
_ (D) Al of thess
53, Price elasticity is defined as the
percentage change in __ 58 Market equilibrium of a comm

detlermined by

(A} Balancing of dema
supply position

(B) Aggregate demand

(C) Aggregate supply

(D) Govt intervention
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54. A market structure charactensed by
having only one buyer of a product or
service known as

(A) Monopsony

(B] Monopoly

(C) Digopoly

(D) None of the above

60, Inwhich case the law of demand does
not apply 7

(A) Expectations regarding furthes
prices

(B) Status goods
(C) Giffen goods
(D) Al of the above

81. Which iz not sources of oligopoly 7
(&) Huge capital investment
(B) Economic of scale
(C) Patentof nghts
(D) Noneof the atm'u':a

82. Contribution Is a combination of
(A} Fixed cost + profit
(B} Fixed cost +loss
(C) Fixed cost + variable cosl
(D} Fixed cost + sales

83. Tabulation of data s a
(A} Need of statistics
(B) Function of statistics
(C) Oblects of statistics
(D} (A)and (B) both

4. Which one of the following is

included undear the characterist

useful hypothesis 7

(A} Related with availa
technique

(B) Empincism
(C) Related with existing theon
(D} Sampling

65. Which of the foliowing is the so
of errors ¢

(A) Errors of origin

(B) Errors of inadequacy
(C) Emors of manipulation
(D) Errors of interpretation

66. If we have a population of size
units and we want 1o selecta
of 500 units, then ratio 1s

(A) 8.2 sEo
(B) 9 -
(C} 9.3

(D) 9.4

G§7. A coin is lossed 4 times. What
probatylity of getting exactly 2

2
AW 5

—

(B)

oo |

(C)

oo oo | L

(D]
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B8. Hypothesis is
{A) A statement about the
population

69,

7.

T2

A*

(B) A tool of calculation
{C) A ool of auditing
(0} A toal of production

Which of the following is/are the tool
of measure ol the variation of the
tems 7

(A) Mean

(B) Dispersion

(C) Mode

(D} Hypothesis

Principle of parity of authority and
responsibility is related 1o

(A} Decentralisation
(8) Delegation

(C) Divisionalisation
(D)  Autonomy

Which is not the imanagement
function ?

(A} Co-operation
(B} Planning

({C) Organising
(D) Control

“although delays are costly the cost of
eliminating all detay may be even more
costly”, This thesis is based on he

(A} Queuing theory

(B) Game thaory

(C) Probability theory
(0} Linear programming

73. Horizontal co-ordination is related
(A} Co-operation
(B} Interasted parlies
(C} Different level of manages

™

L

Equal level of managemeant

74. The principle of 'Unity of Comm
implies \

{A) Unity of thought and action
(B) Unity amang subordinates
(C) Instructions from stalf authd

(D)  Instruction from line authanl

75, Job rotation means

{A) Rearrangement of job co
(B) Rotation ol jobs belw
vanous sections '
Changing people in the jof
None of the above

\G)
(D)

76, Malrix mgamsaﬂﬂﬁ

(A) A mnnnh!hm functions
orgarnisation

A consulative nature

One where a project is as
to a project manager
One where project manag
others are of specific skil
gxperiise

(B)
(C)

(O}

The process of evalualif
employees' performance on i
l= known as

(A} Job analysis
(8) Job rotation
(C)  Induchon

(D} Merit rating
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70, #Ew T IWeElEe & TuEa &
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() Tl
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(C) TR
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71, ey @ ug e e R
(A)  EwRIE
(B) @A
(C} A
(D) FreEm

72, “wrmfE E wE B ® S et 3t
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(A) IR T (FET = e
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78. Grapevine communication is a type of B3. Who developed the theory Z

(A} Formal communication management 7

(B) Informal communication (A) Dougias McGregor
(C) Horizontal communication (B} William G. Ouchi
(D) SWOT communication (C) Cheter Barnard

(D) Rensis Likert
79. The scalar principle of organisation

implies 84, Span ol control refersto™
(A} Asuberdinate should have only (A} A number of units und
one superior company
(B} Line of authority must be clearly (B) Supply area of a company
defined (C} Numbers of subordinates
(Cy Al authority must vest in one a manager
single person (D) Controlling techniques
() Manager should directly
supervise only a limited number 85. Which one of the following i
of subordinates forms of organisation 7

(A) Line organisation

BO. Unity of command is practised in (B) Staff organisation
(A4) Functional organisation (C) Functional .EI. aris o
(B) Staff organisation (D) Committes isation
({C) Project organisation
(0) Line ﬂrgamsaiiuﬁ BE. When a cement mill, a stesl
a chemical company combing,
81. SWOT is related to case of
(A) Organisation (A) Diagonal combination
(B) Staffing (B) Vertical combination
(C) Planning (C) Horizontal combination
(D) Caontrol (D} Circular combination

B2. The lechnique of ‘Carrot and Stick’ is 87. Communication between the

used for and the emplayee is known as
{ {4) Reducing absenteaism (A) Inter scalar

(B) Rewarding (B) Extra organisational

(C) Controlling - (C) Intra scalar

(D} Motivating (D} Crosswise

A* 20
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83.

86.
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B8. Indian railway is an example of
(A} A deparimental undertaking
(B) A public corparation
(C) A governmant company

(D) None of the above

89. Which of the following statements is
comect ?

(A} Authority cannot be delegated

. (B) Responsibility cannot be
' delegated

(C) Authority and responsibility
f cannol go together

(D) None of the above

890. Eion Mayo is main contributor to

(A) Ciassical approach

(B) Bureaucracy
(C] Modern theory of management

(D) Human relations approach

91. Managemenl is loday considersd as
a process of

s — ——

(A} Getling work done through
others

(B) Working with olhers

(C) Waorking with and through
others

(D) MNone of the above

92.

Which of the lollowing slatement
correct 7

(A} Authority and raspnnslu
always flow upwards

(B) Authority and responsibs
always fiow downwards

(C) Authority flows downwardss
responsibility flows upwards

(D) Authority flows upwards @
responsibility flows dowrniwi

MBO Is a technique to

(A} Split the organisational g
into goals of individuals

(B) Deiegate the authonty
(C) Define the span of control
(D) Laydown the objective of
arganisation
,,.-'-.; o
E e
The tarm ‘strategy’ is mainly reial
(A} Planning
(B} Motivating employees
(C) Decentralisation

(D) Ce-ordination

Which one of the following 1§
principle of business organisa

(A) Principle of objectives
(B) Principle of efficiency

(C] Principle of division of la

(D) Principle of profit
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96

g7.

98.

The concept of ‘Bounded Rationality’
in decision-making has been given by

1A
(B)
()
(D}

Line authority
Staff authority
Intormal authority
All of the above

“Leadership qualities are inbom™ this
notion forms par of which of the
following 7

(A) The followership theory of
leadership

(B} The behavioural theory of
leadership

(Cy The path goal theory of
leadership

{D) The greal men theory of

leadearship

That form of business organisation for
which Specific Act has not been
passaed is

(A)
(B)
(C)
(o)

Partnership
Company
Co-operative sociaty
Sole proprigtorship

Workers oppose rationalizalion
bacause

(A} Of dominance of capital

{B) Of lockoul

(C) Of retrenchment

(D) They will have to work more

VR 0 R0 S 0 00 R

100.

101

102

103.

The process in which actual resd
are compared with desired res
called

(A) Co-ordination
(B} Direction

(C) Control

(D) Planning

“One man control s the best l:n,
world" s a statement of

(A} Haney

{B) Kimball and Kimball
(C} William R. Baset
(D) F.W. Taylor

Which one of the following s
principle of business ethics 7

(A)
(B)
(C)
(D)

Frinciple of universality
Principle of humanity
Principle of gaibnomy

Principle of dissatisfaction

Which one ol the following fon
may be used for calculating @
equity ratio 7

Hel worth

(A) Total debt
_]'_mal dabi

(B) MNat worth

o Assely

() Liabiities
Current Assels

(D)

Current Stock
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104. Stock dividend the 108. The principle of trading on eq
number of equity share. provides a basis for using fixa
(A} Increass interest bearing capital as a sous
(B) Decrease of ——hinance.
= {j:']_ E\'E-I"'I {E]‘ aAdhoc
(C) Temporary
105. 1 initial investment is ¥ 2,00,000 and (D) MNone of these
the annual cash flow is 50,000, then
the pay bacx Teciproca) Wil be 108, The rate of dividend on equity sh
(&) 0.25% i not '
(B} 0.30% (A) Fixed
(C) D.34% (B) Floating
(D) 0.50% (C) Equal
(D) Suitable
106. Which formula may be used for
certainty equivalent coafficientincash | 110, The cost of depreciation fuf
. risk analysis in capital budgeting ? calculated according o
(A) 100 Bt {A) Opportunity Cost Thaory
F_:h;il- W AINYE I LE} Magthm Qm!muw
_ (C) M.M. Theory
(8) Riskless cash fl?w (D). Swarz model
Risky cash flow
Hisk 111. Stock dividend Is known as
C) ——— =100
() Investmeni {A) Fund
Aisk hf (B} Profit
(D) - ;-'::as—uw « |nvestment (C) Invertory
L (D) Bonusshare
107 meets the shor term _ _
financial requirements of a business | 112.  Which Bank is known as a g
enterprisa. Bank of India ?
(A) Share Capital (A} Reserve Bank of India
(B) Debenture (B) State Bank of India
(C) Working Capital * (€} Punjab National Bank
(D} Asssts (D) Al of the above

A* 265




104. === fafads 4 o) st Framen
7
(A) =l
(B) FHEH
(C) T wEe 6 A

(D) FEE

g% e w2 2,00,000 B 3

AR %31 Wil ¥ 50,000 B, W 1 5
BTl

(A) 0.25%

(B) 0.30%

(C) 0.34%

(D) 0.50%

105.
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3.

114.

115

1eE.

117

Liquidity means the ability of the Bank
to convert its non-cash assets into
cash easily and without

(A) Loss
{B) Profil
(C} Interest
(D) Risk

Which of the lollowing lransachions
would cause a change in 'Owners'

aquity ?

(A} Repaymeni of a Bank loan

{B) Payment of dividends and
unprofitable operations

(C) Sale of land on credit

(D) Purchase of assels and

incurrence of habilities

Which of these are oulside the domain
of macro economics ?

(A) Consumer behaviour

(B) National In::nmelr

(C) Economic growth

(D) Balance of payment and trade

Macro economics s the study of
(A} Inflation

(B} Unemployment

(C) Growth

(D) All of above

Personal taxes in India best llustrates a

(A) Proportional tax system
(B) Progressive tax system

{C} Indirect lax system

(0) Value added tax system

118.

118,

120.

121,

Braak aven point rafers (o the situatl
when

(A) Total revenue is equal to of
cost

(B} Total revenue is more than i
cost

(C) Total revenue is less than i
cost

(D) Total revenue 15 equal 1o
variable cost

A monopoly firm makes more p
because

(A} It has ability to choose af
price and output combinalil

(B} It can discriminate price

(CY It leave the consumer
CONSUMEr surpius

(D) It acts as a marke! leader

iy
Which of the Tollowing stateme
true ?

(A} Monopolists are price lak

(B) Manopoly firm earn abq
profits

(C) A monopoly firm faces 8
demand fine

(D) Supply curve of a monapge

5 positive sioped

Which of these ara not |
tertiary sector ?

{A) Banking
(B
(C)
(D)

Insurance
Agriculiure

Transport
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122,

123

124

125.

126

In_ in fact "No leadership
at all"

(A} Democratic

{B) Autocratic

{C) Frea rain

(D) Bureaucratic

Which of the following is an
environmental force that shapes
personality 7

(A) Gender

(B) Height

(C) Experience

(B) Brain size

The final step of the strategic
management process is

(A) Doing an internal analysis
(B} Formulating strategies

(C) Implemenling strategies
(D) Evaluating results

According to Abraham Maslow, the
most elevated type of need is

(A}
B)
(C)
(D)

Self-actualizafion
Physiological
Esteem

Safety

What three words define molivation ?
(A
(B)
(C)
(D)

Persistence, Fairness, Ambition
Ambition, Direction, Intensity
Desire, Persistence, Faimess

intensity, Direction, Persistence

127

128.

129,

130,

131,

The salary of factory clerk is treated 8
(A} Direct labour cost

(B) Indirect labour cost
({C) Conversion cosl
(D) Prime cost

Loss by fire is an example of

(A) MNormal loss

{(B) Abnormal loss

{C)  Incremental loss

(D) Cannot be determined

In case of rise in price levels, the ma
suitable mathod for valuing materis
issued s

(A) LIFO

(B) FIFO

(C) Simple average

(D) Weighted average

The main purpose of cost accouni
5 1o

(A)
(B)
(C)
(D)

Maxirmize profits
Help in inventory valuation
Ald in the fixation of selling pr

Provide information io manags
for decision-making

A slore ledger card is similar to the
(A) Stock ledger |
(B} Bincard

(C) Material card

(D) Purchase requisition card
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132.

133.

134,

135,

136,

137.

A*

A standard rate is paid to the
employee when he complated his job

{A) Intime less than the standard
(B) Instandard time

(C) Intime more than standard

(D) Both in standard time and more

than the standard time

e _i5the date on which
a bill falls due for paymant

(A) Settiemont date
(B) Maturity date
(C) Payment date
(D) Due date

Joint venlure is a parinership
(A}  With no firm name

(B) For indefinite period
(C) Formed for 5 years

(D} Al the thres

Chwing of the business are called
(A) Liabilities
(B) Capital
(C) Met waorth
(D} Asszeis

Cash sales will be recorded in
(A) Sales Day Book

(B) Cash Book

(C) Purchase Book

(0} Beturn inward Book

The Receipts and Payments Account
of a nan-prafit organization Is a

(&)  Nominal Account

(B) Real Account

({C)  Income Statement Account
(D)  Financial Account

138.

139.

140.

141,

142.

[T O 0 0 0 0

Cost of goods sold exciudes
(A) Opening stock

(B) Closing stock

(C) Wages and Salary

(D) Salesmen Commission

A customer returning the good
purchased on credit, may inform |
seller by sending

(A) Debit Note

(B) Credit Note
(C) Court Notice
(D) Retum Invoice

Which of these is an appropriation
profit 7

(A)
(B)
(C)
(O}

Frovision lor payment of bon
Provision for depraciasion
Provision for dividend’
Provision for doubtful debis

Which of the following Is n
depreciated 7

(A) Bullding

(B) Land

(C) Plant and Machinery
() Office egquipment

Interest on own capital is a

(A) Cash cosi

(B) Notional cost

(C) Sunk cost

(0) Part of prime cost




132,

133,

136.

137,

A

T ST ST F H R T

#, 7 36 e 7 8 e s #

(A) O THI | FH HRA 0

(B) U oo H

(C) U a9a | s qaa 1

(D} mﬂ;ammhmmﬁm
HoA

W =8 At 2 o A g
ST 1 B R |

138.

138.

140.

141,

142

JOD-67/PGT-COMM/ TIER-I/X-15

A1e Taehl o g | e e s
(A) AR Wi

(B) =fmels

(C) i o 3w

(D) T = & fir

T T T i e Rt sd =g
T SR A AT

(A) EREEARE

(B) #fE=am

(C) FR$Fam

(D) =t EETE

P & e AFamueEa 2 2
(&) =R F g o g
(B) sEgea & fom weey
(C) = = fom ey

(D) EEreTs v (e 22) % forn
Y

e | | e smgegs 98 2 e
(A) FHTE

(B) HH

(C) werre s R

(D) HTER IR

AT e =t W
(A) TrFEYF

(B) FeulEEa

(C) TFFI=

(D) =er e = few



JDD-67/PGT-COMM TIER-IVX-15

143

144,

T43.

146.

147,

Merit rating halps the following excepl

(A) Determining right worker for the
right jobiwork

(B) Delinking rewards with merits

(<)

o)

Simplitying wage structure

Improving labour relations and
reducing labour fumovar

Noen-monetary Incentives may
inciude the following except

{A} Heaith and safety

(B) Housing facilities

(C) Education and Training
(0} Deamess allowance

The basic research cost should be
treated as

(&) Froductcost

(B) Production cost

(C) Producthon overhead
(D) Panod cost

Two coins are tossad five imes, find
the probability of getting an even
number of heads.

(A} 0.5
B) 1

(C) 04
(D) 0.25

In a map 2 cm denotes a distance of
J km, then the scale in the map s

(A) 1:1,50,000
(8] 1:15,000
(C) 1:1,500
(0 2:3

149
|

150

148,

151,

152.

Public notice is required 1o be give
in the case

(A) Admission of minor
(B) Death of a partnar
(C) Retirement by sleeping partne

(D) Exercising option to continue of
not, on attainment o majority b
the minor

Property of the firm does nol includs

(A) Trademark owned by the firm

(B) Fropery acquired by or for ¢
firm

(C) Goodwill of the business

(D) Property belonging 1o |

panners

Where the unpaid seller has obtains
a decree for the price of the goad
the right of lian

can be exercised. 7

(A)

(B} is lost

(C) is at the option of the court
(D is at the option of the saller

A contract stands discharged

(A) By periormance of the conlra
(B) By breach of the contract
(C) By agreement and novation
(D) Al of thesa

Demand is a function of

(A) Price
(B) Firm
{C) Product
(D) Cost
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153.

154,

155.

158,

157

Elasticity of demand measures the
(A} Sensitivity of sales lo changes
in a particular casual factor

Sensitivity of production to
changes in a particular cost

Value of price and cost
Volume of product

(B)

(C)
(D)

An indifference curve is always
{A) A vertical straight line

(B} Convex to the origin

(C) Concave io the origin

(D) A horizontal straight line

The fotal utility is maximum when
(A} M.U. s zero

(B) M.U. isequalio A.U.

(C) M.U. is the highest

(D} A.U. is the highest

Consumer's surplus is highest in the
case of

(A) MNecessilies
(B) Luxuries
(C) Comforts

(D} Conventional necessities

In Vrocom's Expeclancy Theory,
Valence means

(A} Strength of an Individual's
preference for a particular
outcome

(B}
(L)
(D)

Salary
SUpanisIan
Knowledge of planning

| 158,

159

161

160.

162.

Cagpital budgeting involves the
{A)
{B)
(C)

Ptanning of purchase
Planning of sales

Planning of expendilure g
assots

(D} All of the above

Which is not the form of dividend 7
(&) Optional dividend

(B) Interim dividend

(C) Composite dividand

(D) Zero dividend

Price ratio method 18
(A)
(B)
(C)
(D)

Earning yield method
Growth method

Asgzet method
Dividend yield metfiad

Marketing segmentation should §
foliowed by the targeting and prod
positioning activities for etfectl
planning and implementation of |

(A)
(B)
(C)
(D)

Marketing plans
Businass control
Marketing process
None of these

Markeling mix involves
{A) Product mix

(B) Promotional mix
(C)
(D)

Service mix
All of the above
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162.  Which is not the 'P* of marketing 7

164

165.

166

A'lr

(A)
(B)
(C)
(D)

Product
Promotion
Price

Policy

Inteernet marketing does not deal

(A)
(B)
(C)
(D)

Advertising
interactive marketing
E-mail marketing

Display advertising

PERT and CPM are

(A)
(B)
(C)
(D)

MNetwork technigues
Assignment technigques
Project evaluation techniques

All of the above

Linear programming identifies

(A

(B}

(C)
is)

The optimum quantities of the
variables

The maximum profit or minimum
cost that can be expected

Both (A) and (B)
MNone of the above

Elemeants of TOM includes

{A)
(B8
(C)
(o)

Continuous improvement
Supplier qualty

Suppliar partnarship

All of above

0 00OV 0T T

168.

17

170.

172

Strategic management is the sel
decisions and actions in formulah
and implamentation of strateg
designed to achieve the objectives

(A} An organisation
(B} A planning
(C) A customer
{0} A managemenl

Which is imtellectual quality 7
(A} Enthusiasm

{B) Exerting

(C) A high degree of intelligence
(D) Integnty

Good ethics is good

(A) Customers and suppliers
(B} Value

(C) Business

(D) Human x

Right shares enjoy preferential ri
with regard 1o

(A
(B)
(C)
(L)

Repayment of capital
Payment of retained sarni
Paymant of dividend
None of the above

Profits are maximisad at a
whers

(A) MR =MC
(B] MR>MC
(C] MR <MC
(D) AC>MC
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PERT 3T CPM #
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169.

170,

171.

172.
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173.  Which ol the following s not a capital
assal under capital gains head of
Income 7

(A) Slock in Trade

(B) Goodwill of business
(C)
(D)

Agricuftural land in urban
Jewellary

174, Market sub-divided on the basis of

behavioural characteristics is called
(A} Segmentation

(B} Aggregation

(C) Precision

(D) Mone of the above

Business ethics relates to
(A) Society's decisions
(B) Customer's decisions

(C) An individual's or work group's
decisions

(D) Govemment decisions

176. Opportunity cost is the best example of
(A) Sunk cost

(B) Standard cost

(C) Helevant cosl

(D} Irrelevant cost

177. Wage, Rent and Materials are

examples of

(A) Implicit cost

(B) Explicit cost

(C) Direct cost

(D)  Manufacturing cost

(0T A

178.

179,

180.

181,

182,

Which of the following cost is used in]
the calcwlation of cost per unit 7

(A} Total production cost

(B} Coslol goods sold

(C) Costof goods manufactured
(0} Costof goods available for saies

Sales commissions are classified ag
tA) Pnme costs

(B) Pariod costs

{C) Product costs

(D} Indirect labour

If the direct labour is ¥ 42,000 ang
FOH s 40% of conversion cost, whal
will be the amount of FOH 7

(A) TE3,000
(B) 30,000
(C) T28,000
(D) 16,800

-

Economics cannot be considerad
perfect science because

(A) Human Behaviour s unpredics

(B) It is difficult to make corrsg
prediction of ecanomic variable

(C) Economist do not have comma
opinion about a parficuld
economic avent

(D) Al the three

In the long run price is governed b

(A) Coslef production
(B) Demand supply lorces
{C) Marginal utility

{0

Maone of theae
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183. A Monopoly's demand curve is

(A) Same as ils average revenue
curve

(B) Same as its supply curve
(C) Same as its cost curve
(D) Same as that of the factor inputs

184. Total profit of a firm in a perfect
competitve markot is

(A) Total revenue loss total cost

(B} Marginal revenue less marginal
eost

(G} Tolal revenue less marginal cost

(D) Total revenua less variable cost

185. GDP ig defined as

(A} Currenl value of all the capital
goods produced in the country

(B} 5Sum of goods and services
exporied during the year

(C) All the capital goods and
consumable goods produced
and sold during the year

(D) The market value of all goods
and services produced in tha
domestic economy during the
year

186. Which is the apex bank for
agricultural credit in India ?

(A} RBI
(B} SIDB|
(C} MNABARD
(D) IDBI

Y00 100X Y000 00

188

187.

189,

190,

191,

Manipulation in CRR enables the
RBI to

(A) Influence the lending ability of
the Commerclal Banks

(B) Check unemployment growth
(C) Check poverty
(D) Increase GDP

Supply of money rafers to
(A) Total money held by the public
(B) Total money held by RBI

(C) Total money with all the
Commercial Banks and RBI

(D) Total money in Governmenl
accoun!

Optional money is a

(A) Legal tender money .

(B) Non-legal tender monty
(C) Limited legal tender money
(D) Full bodied money

it RBI wants 1o decrease the money)
supply in order to check inflation it will

(A) Sell bonds

(B) Increase CRR
(C) Hike bank rate
(D) All of the above

CRR means

{A] Cash Resarve Ratio

(B) Current Rate of Return

(C) Cumulative Rate of Return
(D) Current Rate of Rupee
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182. Deflation iz a state whan

(A) Collapse of sensex
(B) Fal in GDP
(C) Consistent increase in prices
(D) Prices are falling
193. Expectancy theory s anexample of a
(A} Process theory
(B) Goal-setting theory
(C) Needs theory
(D) Cognitive Evaluation theory
194, The funchionalapproach to leadership
emphasises that
{A}) The various functions of
leadership cannot be shared
among members of a group
(B) Leadership resides in a
particular person and not in the
functions
(C) Bothof the above
(D)  Neither of the above
188 A ___Is the combining of
lwo or more companies inlo one
organization.
(A)  Merger
(B) Acquisition
(G) Diversification
(D] Reconstruction
186. Which of the following is not an
element of the management process 7
{A) Pricing
{B) Planning
{C] Staffing
(L) Leading

197,

200.

188.

188.

Ceantralization refers to

(Al The geographic dispersion of &
organization

(B) The decision-making process

(C) The development and
maintenance ol powar in the
arganization

(D) The degree 1o which decisio

making is concentrated at 2
single point in the organization

During the downturn portion of ¢
ousiness cycle, the economy ig
characterized by

(A) Falling oulpul and rising

unemployment
\B)
(C)

Rising profits and falling wages

Falling unemployment ang
falling output '

(D) Rising unempFnyrneng_arnd'riai y

investment

The recently emerged type of
managerial job is

(A) Top manager

(B) Middle manager

(C)  Firstline manager

(D) Team leader

A organizational struct

is the simplest form and has cleal
ines of authority and ease of decisiaf
making.

(A) Horizontal
(B) Line

(C) Verical
(D) Staff




192.

194,

185

A*

183.

196.

e 98 g e
(A) T T AT e
(B) GDP3 =z

(C) e e e
(D) et

e fagT TEE 3ETE 3
(a) Wi RrE

(B) =g A

(C) e

(O) HITTEHE A a

T = e w5 O SR T B

(A) iR o Tt e weE o wEe
# W T =1 HE

B) T A A e
G

(C) FufiEmi

(D) o=

Z 1 AfaF FWEE 1 UM 8
_ E{

() e

(B) rfimEm

cy B

(D) gATRTT

gy wiea %1 Fa o # FRE 92
el A

(A) Y i

(B} SRS

(C) ST TE

(D)

197,

188,

129,

200.

JDD-67/PGT-COMM TIER-I/X-15

FAET0 T HAE R

(A) e =] e e

B) Tt & <t wleEn

() wEE  sfET ) a T #
T G FA

(D) wae A fFlg w9 U U
o Tepr 2 & 3EeE uEn

sarar] = % el T |, anfds
feurfs w8

(ay i e s s s

(B) e HATH R Fret st

(Cy Tt e si e 3eamE
(D) e ST ST g e

gret # o1 wardm Aiwfal €, T
B G -
(A) 2T W

(B) TE VEAF

(C) P g UH-H

(D) 2w e

T SR W IR
1 i e i e T 81
2 3 Pl == A s |

(A) I

(B) ®mEA

(C) e

(D) =




SEAL

JDD-67/PGT-COMM/ TIER-IVX-15

11
12

13

14,

16

16.

This Bookiel contalng 48 pages.

Please check all the pages of the Bookisl
caratully. i case of any defect, please ask
ihe Invigilator for replacement ol the Bookls!

Directions = Each guestion or incomplete
siatement is followed by four allernative
suggested anawers or compistions. In each
case, you are required lo select ihe one that
corrgcily answers-the guestion or compleles
the slalemanl and blacken (@ appropriate
circle & B, C or Dby Blua/Black Bal-Paoint Pen
against the guestion concerned in the
Answer-3heel. (For Y. H, candidates
corresponding circle will be blackened
by the scribe)

Mark your answer by shading the appropriata

circle against each guestion. The circle should
b shaded complalshy withou? leaving any space.,

The cormect method of shading s given balow.

I_l.&;.;m\_.: ‘eirr Wt
O800|0E00

Wasitoed | T Wit |

CeQ0I0eCD |

The Candidate must mark his'her response
alier carelul conzidaratron

There s only one correct angwer o each
question. You should blacken (@) the cirale
ol the appropriate column, viz., A, B, Cor D.
If you blacken (#) more than one circle
against any one question, the answer will Be
treated ga wrong, | you wish o cancal any
answer, you should compleiety erasas tihal biack
maark in the circée in the Answer-Sheet and then
blacken the clrcle ol revised responss

A machineg will read the cnded information
In tha OMRB Answear-Sheel, In case the
information s incomplete/differant from the
infermation given in the application lorm, the
candidaiure of such candidale will be treated
as cancofled,

Use the space for rough work geven in the
Cuestion Booklet only and notl on the
Angwar-Shaal

. You are NOT required to mark your answers

in this Booklet. All answers must be
indicated In the Answer-Sheet only.
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A*

8-




TI Il i1 11y vy e v 0 0 0 0 0 0} 1.} |
DO NOT OPEN THE SEAL OF THIS BOOKLET UNTIL YOU ARE TOLD TO DO soll

POST CODE TR I8 &
12812, 129/12, 16314, 164114

QUESTION-CUM ANSWER BOOKLET
T -3 YT
JDD-67/PGT-COMM/ TIER-IVX-15

DESCRIPTIVE TIER - I avfremes feat - i
MAIN EXAMINATION/ = witen

iTime Altiowed @ 1 Hour Maximum Marks: 5
Beer e Ty - 1 u gEan aw : 5

e
-----------.--

IMPORTANT INSTRUCTIONS TO CANDIDATES
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check the no. of pages and if any discrepancy is seen then Invigilator should be informed i

i
immecdiately for anather copy of Question Paper/QAB. i
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5. Answer of every question is expected at specified space. The answer will not be checkad :
if thera is change in place of question or answer i
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3. It is mandatory to strictly follow the instructions by the candidates.
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i) Essay (In English)

L Write an essay on any one of the topics given below 30 Mark

a) The computer will soon replace the book.
R
b) Changing life styles.
OR
¢) Ina democratic country elections are far more farce than reality.
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i} Letter writting / Expansion of ideas (in English)
Il.  Answer any one of the following | 20 Marks
a} 'While in Rome be a Roman” — Expand.

OR

b) A relative has been spreading untrue rumours about you. Write her or him a
letter stating how this has distressed you and affected your reputation

OR

¢} "Empty vessels make more noisa" — Expand.
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INSTRUCTIONS TO CANDIDATES

Time Allowed :
Descriptive Type Examination ; 1 Hour
Total : 1 Hour

Please check all the pages of the
CGuestion-Cum Answer Booklet with
OMR facing sheet. In caze of any defect,
please ask the Invigilator for replacement
of the Booklel. In case of any discrepancy
between the English and Hindi versions
of any Queshion, the English version will
be treated as final/authentic.

You must not tear off or remove any sheet
from this Booklet. This Booklet must be
handed over to the Invigitator before you
leave the Examination Hall.

This Booklet consists of Descriptive
Examination — 2 questions of 50 marks.
Limit your answer to the space provided
in this Booklet. No additional sheet will
be provided,

Answer the Questions as carefully as you
can, Some Questions may be difficult
and others easy. Do not spend much time
on any Question,

Use of Calculator/Paimtop/Laptop/Other
Digital Instrument/Mobile/Cell Phone/
Pager is NOT allowed.

Candidates found guilly of misconduct/
using unfair means in the Examination
Hall will be liable for appropriate penal/
lagal action.

You should not write_your roll number,
name or address in the space provided
for writing answer. In case of ietter writing
name and address should be written as
"abc”, ‘xyz" ete,
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